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Unit II: Industrialization of the United States

Historical Context


Despite the military victory of the Union, important questions remained unanswered. How to deal with confederate leaders? What should be the economic and political fate of the freed slaves? What path of recovery should the South take? The results of the Reconstruction often lead the era to be called “America’s Unfinished Resolution”.


From the colonial period, American settlers moved westward, expanding the colonial and later national boundaries. The Manifest Destiny of the first half of the 19th century led to increased settlements in the second half of the century. Settlement led to increased conflict with Native Americans.

The rise of the factory system had moved the place of production from the home to the factory which utilized new machinery, new power sources, and more unskilled than unskilled labor. The West and domestic markets took most business energy in the late 1800s. America’s rich supply of natural resources, growing labor force, and the wealth of inventions soon had American business looking beyond the borders of the United States, first to the Western Hemisphere and then to Asia.


Reconstruction (1865 – 1877):

	Facts

The period after the end of the Civil War in which the United States repaired the South and itself as a nation.

Lincoln’s plan for Reconstruction involved readmitting the Southern states without strict penalties to southerners

Developed the Freedman’s Bureau to provide for the basic needs of former slaves

Lincoln was assassinated shortly after the Civil War (1865)
Andrew Johnson’s plan followed much like Lincoln’s plan
	Impacts

Reconstruction Amendments:

13th Amendment: Slavery is abolished in the United States

14th Amendment: All citizens regardless of race, creed, color or previous condition of servitude had equal protection of the law

15th Amendment: prohibited the states from denying the right to vote on account of race, creed, color, or previous condition of servitude
	Vocabulary

13th Amendment

14th Amendment

15th Amendment

Reconstruction


The Radical Reconstruction Plan and the Problems of Reconstruction:

	Facts

Radical Reconstruction Plan:

1. Confederate states had committed a crime by leaving the Union.

2. ensure democracy in the south

3. ensure that former slaves were given voting and civil rights in the south

4. ratification of the 14th amendment

5. Federally approved state constitutions for southern states

An impeachment trial was held against Andrew Johnson after conflict over Reconstruction planning
	Impacts

Southern white farmers and leaders regained power through black codes and restrictions on black voting

The Ku Klux Klan launched terrorist campaigns against African Americans and northern carpetbaggers

The south held distrust for the north

Sharecropping held African American farmers in poverty

Southern Democrats opposed Radical Republicans in Congress
	Vocabulary

Black Codes

Freedman’s Bureau

Ku Klux Klan

Radical Republicans

Segregation

Sharecropping




Closing the Western Frontier:

	Facts

Factors:

1. Increased settlement after the Civil War
2. Homestead Act (1862) allowed farmers to have 160 acres of land to farm for 5 years

3. Growth of the Railroad industry

Turner’s Thesis:

The abundance of cheap land fostered social and political equality, a rise in nationalism and optimism, a safety valve for unemployed, and economic independence
	Impacts

Native Americans were pushed onto Reservations with poor farm land under the Dawes Act (1887)
Farming the Frontier was difficult because of the environment of the prairie

Farmers united to protect agricultural prices after the Civil War

Development of the Populist Party gave more political power to prairie farmers
	Vocabulary
Boom Town

Dawes Act

Frontier

Great Plains

Homestead

Homestead Act

Populist Party

Reservation


Industrialism and American Labor (1877 – 1890):

	Facts

Laissez- Faire economic practices allowed for free enterprise to determine what is produced, not the government

Factors of Industrialization:
1. Natural resources (coal, oil, iron)
2. Immigration provided cheap, unskilled factory labor

3. Rise of American big business monopolies

4. development of the assembly line

5. pro-business Federal Government allowed for growth in business

6. Growth of railroads into the West of the U.S.
“Captains of Industry”:

Andrew Carnegie (Steel)

John D. Rockefeller (Oil)

J.P. Morgan (Banking)

Henry Ford (Automobiles)

Business models: Proprietorship, partnership, Corporation

The development of monopolies (trusts) eliminated competition and controlled prices
Mass production of goods

Inventions: Bessemer/open hearth steel making process, telephone, phonograph, incandescent light bulb
	Impacts

Effects of Industrialization:

Positive:

1. Growth of urbanization of industrial cities
2. Growth of the middle class

3. Philanthropy of wealthy industrialists (“Gospel of Wealth”)

4. Mass production of goods made some more affordable

5. Helped raise the standard of living

6. Developed new and innovative practices

Negative:

1. Exploited workers with low wages and unsafe working conditions

2. Pollution and wasted many natural resources

3. Big business destroyed small business competition
4. Child labor

Response to Big Business:

1. Growth and development of labor unions (Knights of Labor, AFL-CIO)

2. Strikes, collective bargaining, boycott were all used against management to force better pay and working conditions

Anti-trust legislation by the Federal Government

Immigrants from southern and eastern Europe came to the U.S. looking for work
	Vocabulary

American Federation of Labor (AFL)

Bessemer steel making process

Business Cycle

Corporation

Thomas Edison

Gilded Age

Samuel Gompers

Sherman Anti-trust Act

Knights of Labor

Monopoly

Philanthropist

Pullman Strike

Robber Baron

Sweatshop

Transcontinental Railroad

Trust

Urbanization


Limits on Immigration:

	Facts
1. High nativist feelings

2. Development of the American Party (“Know-Nothings”)

3. Nativist fears over competition for labor and industrial jobs
	Impacts

U.S. placed restrictions on immigration with the Chinese Exclusion Act (1882), Literacy Test Act (1917), Emergency Quota Act (1921), National Origins Quota Act (1924)
	Vocabulary
Assimilation

Melting Pot


Imperialism (1890 – 1899):

	Facts

Causes of American Imperialism:

1. American big business needed cheap raw materials and new markets to sell mass produced goods

2. Closing of the Western Frontier

3. Competition with European nations in Asia and South America

4. Justification of the Monroe Doctrine

Events in American Imperialism:

1. Spanish American War (1898)
2. Hawaii is controlled by American settlers by 1898

3. Opening of Japan (1853)

4. Adoption of the Open Door Policy toward China (1899)

Panama Canal is finished in 1903, making trade easier for the Unite States
Cuba became a protectorate of U.S. after the Teller 
Resolution
	Impacts
Effects of American Imperialism:

1. U.S. gained more international presence in world affairs

2. domination of political affairs in the Caribbean Sea with control of Puerto Rico and Cuba

3. American naval power grew in both the Atlantic and the Pacific Oceans

4. Allowed American business to export goods to Latin America and China

United States gained a sphere of influence over China after helping to end the Boxer Rebellion in 1900

The “Big Stick Policy” and the “Roosevelt Corollary” justified American involvement in Latin American politics
	Vocabulary
Anti- Imperialist League

Boxer Rebellion

Imperialism

Open Door Policy

Panama Canal

Platt Amendment

Roosevelt Corollary

Spanish- American War

Sphere of Influence

Yellow Journalism


New York Sate Regents Review questions:

Answer the following review questions using the review guide and your vocabulary from the vocabulary list. 

Base your answer to question 1on the table below
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1. Which statement is best supported by the data in the table?

(1) The Confederate troops lost the Civil War as a result of their higher numbers of injuries and fatalities.

(2) The Union army had better generals during the Civil War.

(3) The Civil War had more casualties than any other war.

(4) More soldiers died from disease than from wounds.

2. During the late 1800s, Southern voters solidly supported the Democratic Party primarily because Democrats

(1) favored a stronger national government

(2) led efforts to advance civil rights

(3) opposed the Jim Crow legal system


(4) disliked the Reconstruction programs of the Republicans

3. In the ten years following the Civil War, a large numbers of former slaves earned a living by becoming

(1) conductors on the Underground Railroad
(2) workers in Northern factories

(3) sharecroppers on Southern farms

(4) gold miners in California

4. The institution of slavery was formally abolished in the United States by the

(1) Compromise of 1850


(2) Emancipation Proclamation of 1863

(3) creation of the Freedmen’s Bureau
(4) ratification of the 13th amendment
5. What effect did the system of sharecropping have on the South after the Civil War?

(1) It kept formerly enslaved persons economically dependent.

(2) It brought investment capital to the South.

(3) It encouraged Northerners to migrate south.

(4) It provided for a fairer distribution of farm profits.

6. During the late 1800s, industrialization in the United States led to

(1) the growth of the middle class

(2) a decline in labor union membership

(3) the creation of affirmative action programs

(4) a decrease in the use of natural resources

7. In the late 19th century, the major argument used by labor union leaders against immigrants was that immigrants

(1) took jobs from United States citizens
(2) contributed little to enrich American life

(3) placed financial drains on social services
(4) refused to assimilate American culture
Base your answer on the chart below
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	8. Which generalization about population growth is supported by information in this chart?

(1) For every census listed, rural population exceeded urban population.

(2) By 1920, more people lived in cities than in rural areas.

(3) The Civil War significantly slowed the rate of population growth.

(4) Most urban population growth was due to people migrating from rural areas.




9. “But today we are raising more than we can consume. Today we are making more than we can use. Today our industrial society is congested; there are more workers than there is work; there is more capital than there is investment. We do not need more money—we need more circulation, more employment. Therefore, we must find new markets for our produce, new occupation for our capital, new work for our labor. . . .” — Senator Albert J. Beveridge, 1898

This statement provides a reason why political leaders of the late 1800s adopted the policy of

(1) imperialism
(3) protectionism

(2) isolationism 
(4) collective security

10. A significant contribution to the industrialization of the United States was Henry Ford’s development of

(1) the assembly line

(2) electric-powered vehicles

(3) the first holding company
(4) a new process for making steel

11. Following the Civil War, many Southern states enacted Black Codes to

(1) provide free farmland for African Americans

(2) guarantee equal civil rights for African Americans

(3) restrict the rights of formerly enslaved persons

(4) support the creation of the Freedmen’s Bureau

12. One reason John D. Rockefeller, Andrew Carnegie, and J. Pierpont Morgan were sometimes called robber barons was because they

(1) robbed from the rich to give to the poor

(2) made unnecessarily risky investments

(3) used ruthless business tactics against their competitors

(4) stole money from the federal government

Base your answers to questions 13 and 14 on the speakers’ statements below

Speaker A: “Our nation has grown and prospered from the ideas and labor of immigrants. The nation has been enriched by immigrants from different nations who brought new ideas and lifestyles, which have become part of American culture.”

Speaker B: “United States industries are competing with established European manufacturers. To prosper, American industries need the vast supply of unskilled labor that is provided by immigrants.”

Speaker C: “Immigrants are taking jobs at low wages without regard for long hours and workers’ safety. American workers must unite to end this unfair competition.”

Speaker D: “Immigrants arrive in American cities poor and frightened. They are helped to find jobs or housing. These newcomers should show their gratitude at voting time.”

13. Which speaker is most clearly expressing the melting pot theory?

(1) A
(3) C

(2) B 
(4) D
14. Speaker D is expressing an opinion most like that of a

(1) labor union member
(2) religious leader

(3) factory owner

(4) political party boss

15. In the 19th century, protective tariffs, subsidies for railroads, and open immigration showed that the federal government followed a policy of

(1) support for economic growth
(2) noninterference in the free-market system

(3) regulating of business practices
(4) support for organized labor

16. The Homestead Act of 1862 helped the development of the West by

(1) providing free land to settlers

(2) granting land for construction of transcontinental railroads

(3) allowing slavery to spread to the territories

(4) placing Native American Indians on reservations

17. Which United States foreign policy was most directly related to the rise of big business in the late 1800s?

(1) containment
(3) détente

(2) imperialism 
(4) neutrality

18. What was a major result of the Civil War?

(1) States now had the right to secede from the Union.

(2) Congress passed an amendment to provide for the direct election of senators.

(3) The power of the central government was strengthened.

(4) The judiciary became the dominant branch of the federal government.

19. Which statement describes a result of the Industrial Revolution in the United States?

(1) Farm production decreased.

(2) Slavery in the South increased.

(3) The population of the cities decreased.
(4) Immigration to the U. S. increased.
Base your answer to question on the cartoon below
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	20. What is the main idea of this cartoon?

(1) The Standard Oil Company was a harmful monopoly.

(2) The best way to develop major industries was to form proprietorships.

(3) Government regulations were strangling the Standard Oil Company.

(4) Foreign competition in the oil industry was hurting American companies.


